5 ‘igr-/\—}xf;/\zl
= 4

%le b

armAREERET =205

%r
Lu ng Yun CaStIn CO Ltd E-mail: inquiry@lungyun.com.tw

Phone : +886 426817600 Fax; + 86426813474
20, Gong-3 Rd., Tachia Dist., Taichung City, Taiwan it/ -inaw.lungytn.com

Two-Piece Flange Ends Full Port Ball Valve JIS 10K

1. INVESTMENT CASTING

2. FLOATING BALL

3. FLANGE DIMENSION : JIS B2220
4. FACE TO FACE : JIS B2002

5.150 5211 MOUNTING PAD
6. TEST PER JIS B2003 1 |BODY SCS13A |SCST4A
UNIT - P51 2 |CAP SCS13A |SCS14A
TYPE ] PRESSURE | 3 |BALL SCS13A [SCS14A
SHELL TEST (WATER) 15kg/cm2 (218 PS) 4 |BALLSEAT PTFE
SEAT TEST (WATER) 11kg/cm?2 (160 PS) 5 [ JOINTGASKET PTEE
— = e L 6 [JOINTBOLT SUS 304
7 |STEM SCS13A |SCS]4A
S0 8 |THRUSTWASHER PTFE
%‘300 9 |ISTEMPACKING PTFE
S =0 10|GLAND SCS13A
3 '© 11|STOPPLATE SUS 304
g '@ 12 |(GLANDBOLT SUS 304
> 13 ISNAP RING SUS
"% @ T @0 0 0 0 w0 14 |[HANDLE FCD450
Temperature °F
" UNIT : MM
/2 15| 51 | S | 12(1] D | 154 18| 9 | 130] 9| 12|55 M5*0.8| 42| FM4
/4" | D | B |10 41| A 154 1N7] 10| 130]| 92 |12|55] M5*0.8| 42| FM4
23 1" D& [ 1541 D194 |17 | 14160 | 11| 14| 6 | M6*1.0] 50| F5
1-1/4" 2 | 76 | 13B (162 10| 1994 [ 10| 119 10| 11| 14| 6 | M6*1.0] 50| K5
1-1/2" D | 8 [ 1D[16]|2] 106 19%4 | 16| 12| 160 | 11| 14| 6 | Mé6*1.0] 50| F»b
2" D% | 1516|210 194 | 18| 131 | 20| 14| 18| 6 [M8*1.25 70| KV
2-1/2" 6 [ N6 | 175|182 14| 1994 | 190 | 151 | 20| 14| 18| 6 [M8*1.25 70| KV
3" O 1218|182 10D| 198 | 2B | 161 | 30| 17| 2| 7 [M8*1.25 70| RV
4" 1100|151 20|18(2| 1| 1998 | 29 | 18| 30| 17| 2| 7 IM8*1.25 70| KV
5" 115182 20| D220 258 | 300 211 | 40| 2| B| 7 IM10*1.5[102| FI0
6" | 1D [ 22| B | 2|2 20| B8 | 340 2 | 50| 7 | 3| 7 |[MI2*X1.5| 15| FI2




